AP Cocleolus AB/BC #1 Key S0

N /5 - CD-CB - (L9-85- -
7-3 7-3

C(5)= 4 C%min

2 5l1€(t)dt _ (3-0)(100) + (1-3) (85 H3- -6

= 3(100) +4(85)+ 5(69)
300 + 340+ 345
9% 5

1;5 Ct)dt 1o the average femperafvie

of coffee I d rees Celaius as 7T
cools In the cup over time O£tz 12mh.

.l

C) S c’(t)dr = C(30)- C( 1)
I

Z14.LT708119HH4 = C(0)— 52
C(ad) 2 40.33918 C°

D) C/(t)>0 on [Q<E<A0, so Temperaive

of Coffee Is charging at an
INCredsing rate on inferval.



AP (plevlvg BL L Key

A VOGP (Y )’ = 12.3048506
At time t=d, the specd of the Pafﬁ'c,lc
is 13.305 em/sec.

B) § VIXTOF+ (4t dt =15.901715

The Total dustance tfraveled 195 the particle
over the fime interval 0£t=a |s 15.902 em.

0§yt = y&)- y(o) @t-3; (34-6)
111363 = &-Y()
y[o) = —1.073613
D) yit)>o where is H’Ctko QL (%P pesiive
@t 58385 YO=0

On irferval from 3£t %’(t):o
ot = 5.33) seconds
.o j{tbo and. %’(t) <0 oW

(5.393,8]
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A) ,0”_‘_’ H(0)= 4

5/\

——t—t—t>
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B) 8- L (4-1) cos )

a2
o= (1) o3 (%)
(.‘,03'6%)':0

+ =T

W, 4+ O

Ho ine T dec S

AL =T H/(M=0 and HE)
changes from  increasing fo decrensiag
i t=T. This crifical point 1S
relehive maximum for depth of
Seaunder.



() 8. L (H-1) cos (L)
2 - Je(E) dt
SH—i AH Swj’(a-

2 In#-1] = sinf[S)+ C
InH-1] = sinf&)+c
In]4-1) = sin0+C
3 =0
In [H-1] = sink)+1n
e

H(0)=4

4-g - ot gh3
HE = 3 esm(%)Jri




AP Cplevlus AB/BC 4t key
A g0)= L_éfét)di = —i{@)&t =712
geh) = St = F(H@D=4
§6) = J, AL + 7 fBdt= h+(D=3
g(-0="13; q(A)=4 5 9(&)=3

B) 36() has a crdica) point where
f00 = g1 = 0-This oceurs
ot x4 £ =g1D=0

eY h(x-= 5:#’(40 dk

) = §°$dt = £(6)- (-6
~b = '1 - 005
h([g) = "lo5

N0 = g[S at] =41
o) +16)= 1
\f\//((o): 'F”((D: ;Q_




AP Coladus BC #5 Key
A W)= & 05 JTHEP dt
h/CT‘—B: \/ |+ (‘F/ﬂTﬂl

= m
W(m = V3T

B) For the differentiable funchion F(x) on
interval 0<x<, The lengh of the
tove of Y=F() from O foT.

() fa@)=Ho+T o 7 0+5T=3T
)

fam=f@m+T %@.m
=B+ 6T
£(am) =1

D 5) s (L) dt u=t+5 <> v= 4 sin(%
) [ (t49) (% A e COS(*/;g

() s - St smB
(£+5)(4 sin(iH) + 16 cas() +C
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b’“ I'H'l (o l
il %(n:\gwjz npansr

LoLem Z,\ dwerges b.dpsenesf&l'

T\';—
Nyoo 7'“2 s r|\'_700 s -1

Since 0< 1<0o both seres d{Verge,

B) |f(3-54< 5o
Ia|=\Lﬁl_—-l)“,: N

o 7 350
§5§tp<‘|’
- h—|

) + oA S (0O
) O«)nzl po" _7n2='u n-6n
D) Bg Rato Test o Check. RO.C.

lim (h+3) X b7-n

o | o o (DX |
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FRQ #06 (cont)

D) lim | (n+a) x¥C) - n? 30
oo | (Nt 3M ()

lim [ (o) PP
(h+1)°-3 \é 'hl-f\ao d‘
<

\xl <3 vads = (3



